


Helix M = 0.025 7h = 1.00
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Helix M = 0.05 7h = 1.00




Helix M = 0.10 7A = 1.00




What we don’t yet so far




Admittance at a baffled opening I
s =0

2




Admittance at a baffled opening I
, : :

p'(0) = 0/\5




Admittance at a baffled opening 11
Follow Pagneux, Amir & Kergomard (1996 JASA).

Matching pressure and velocity at s = 0 is linear, so take only one Fourier mode.
p' = Z?%Pé, u' = ngUé, fori =1,2

Equating pressure for r < hq,

Pim [ wPulas— [ PRubulas— [  wluBdSPE—FasP}
r<hi r<hi r<hi

Equating normal velocity for » < h1,

Uz = / w2 dS = / w2 dS = / “1‘”3“:/ Yo dSUs = (F1)g
r<hao r<hiq r<hiq

r<hiq
Eliminate p? and u? from p? = Ztu? + Z+[u?, u?] to get

p' = FZTFlu! + FZT[FTu! Flul)

Compare with p! = Z'u! + Z1[u!, '] and invert impedance to find

—1
! = (FZ+FT) V= —Y'FZFFTYL FTYY



Dipole pressure source I

X
I b
=~ 1l - Y
..................................................... (1 1




Dipole pressure source II

As before:

P2 :/ P22 dS:/ P22 dS:/ p'va dSZ/ Vs dSPs = (FT)gq
r<ho r<hiq r<hi r<hi

U, = / u?y, dS :/ Yo vs dSUS = FapUj
r<hi r<hi

Eliminate p? and u? from u? = Y+ p? + Y1 [p?, p?] to get
u' = Fu® = FYTp? + FYT[p?, p?] = FYTF'p! + FY*[F'p', F'p']

Compare with u! = Y!p! + Y1 [p!, p'] and cancel p! to get
Y! =FYTF! Yt =FY+[F' F1]
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